



Navn: _____

Dato: _____ Score: _____

$$(-4)^2 + (-2) =$$

$$(-9) + (-2) =$$

$$(-10)^2 + 10 =$$

$$5^{(-1)} - 1 =$$

$$9^{(-2)} - 6 =$$

$$(-6)^{(-1)} + 7 =$$

$$9^{(-2)} - (-6) =$$

$$6^{(-2)} - 9 =$$

$$1^2 + 4 =$$

$$(-1)^2 - 7 =$$

$$6^{(-2)} + 6 =$$

$$(-4)^2 - (-4) =$$

$$10^2 - 2 =$$

$$2^2 + (-2) =$$

$$(-5)^2 + 2 =$$

$$10 + 10 =$$

$$7 + (-6) =$$

$$10^2 - 10 =$$

$$(-9)^{(-2)} + 7 =$$

$$9 - (-4) =$$



Navn: _____

Dato: _____ Score: _____

$$(-4)^2 + (-2) = 14$$

$$(-9) + (-2) = (-11)$$

$$(-10)^2 + 10 = 110$$

$$5^{(-1)} - 1 = \left(-\frac{4}{5}\right)$$

$$9^{(-2)} - 6 = \left(-\frac{485}{81}\right) = \left(-5\frac{80}{81}\right)$$

$$(-6)^{(-1)} + 7 = \frac{41}{6} = 6\frac{5}{6}$$

$$9^{(-2)} - (-6) = \frac{487}{81} = 6\frac{1}{81}$$

$$6^{(-2)} - 9 = \left(-\frac{323}{36}\right) = \left(-8\frac{35}{36}\right)$$

$$1^2 + 4 = 5$$

$$(-1)^2 - 7 = (-6)$$

$$6^{(-2)} + 6 = \frac{217}{36} = 6\frac{1}{36}$$

$$(-4)^2 - (-4) = 20$$

$$10^2 - 2 = 98$$

$$2^2 + (-2) = 2$$

$$(-5)^2 + 2 = 27$$

$$10 + 10 = 20$$

$$7 + (-6) = 1$$

$$10^2 - 10 = 90$$

$$(-9)^{(-2)} + 7 = \frac{568}{81} = 7\frac{1}{81}$$

$$9 - (-4) = 13$$